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QUESTION 1

Which statement is true when formatting text in a dashboard crosstab or table? 

A. Table summary row may be formatted with a different color. 

B. Column formatting gets inherited for the table/crosstab summary row. 

C. Column titles may be individually formatted in any font/color/size. 

D. The default object does not wrap text, but it is an option. 

Correct Answer: D 

 

QUESTION 2

What is the significance of \\'Clothes\\' in the following filter expression of a report query? [Product Group] = # sq(
prompt( \\'productgroups\\', \\'token\\', \\'Clothes\\' ) )# 

A. \\'Clothes\\' is the default text to include in the generated query at runtime. 

B. The string \\'Clothes\\' will precede the text of the prompt value selected at runtime. 

C. The string \\'Clothes\\' will be appended to the end of the text of the prompt value selected at runtime. 

D. \\'Clothes\\' is a required value to include in the generated query at runtime. 

Correct Answer: C 

 

QUESTION 3

A user complains that the table they\\'re using within a data module has too much historical data in it. The user would
like to keep the old data available, but when using the table for any new reports would like to see only newer entries
based 

on an \\'Order Date\\' column. 

What does the developer need to do to accomplish this? 

A. Create a navigation path for the newer entries. 

B. Apply a filter to the "Order Date\\' attribute. 

C. Create a calculated \\'Order Date\\'. 

D. Create a copy of the table, and apply a filter to the \\'Order Date\\' attribute. 

Correct Answer: A 
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QUESTION 4

What property needs to be set to ensure that any JavaScript and Prompt APIs are executed when a report is run as
HTML? 

A. Ensure Enable bidirectional support is checked 

B. Run with full interactivity is set to No 

C. Enable drill up and drill down in the report output 

D. Guided report layout is checked 

Correct Answer: D 

 

QUESTION 5

What is a Layout component reference intended to do in a report? 

A. Allow pinned objects to be displayed in a report. 

B. Allow reuse of Active Report components with other Active Reports. 

C. Allow consumers to use report objects in Dashboards and Explorations. 

D. Allow for the reuse of report objects between and within reports for consistency and efficiency. 

Correct Answer: A 
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